
d�+ç>·V�²D²Ôá�¿£ eTÖý²«+¿£qeTT ` I -2016-2017
>·DìÔáeTT ` �||�sY ` II

(Ôî\T>·T MT&�jáT+)

bÍsÁT¼ - m Ê _

ÔásÁ>·Ü : 10               >·]w�÷ eÖsÁTØ\T : 40 d�eTjáT+ : 2:45 >·+öö

d�Ö#áq\T :
1. ç|�Ü ç|�Xø�qT u²>± #á<�e+&�.
2. bÍsÁT¼ ` m d�eÖ<ó�qeTT\T yûs=¿£ Èy��T |�çÔáeTTýË çy�jáTeýÉqT.
3. bÍsÁT¼ ` m ýË eTÖ&�T �d¿£üqT¢ ¿£\eÚ.
4. ç|�Ü ç|�Xø�Å£� d�eÖ<ó�q$TjáT«+&�.
5. ç|�Ü Èy��TqT d�Îw�¼+>±, #á¿£Ø>± ¿£q|�&ûý² s�jáT+&�.
6. �d¿£üqT ̀ 3 ýË n+ÔásÁZÔá m+|¾¿£ ¿£\<�T.

�d¿£üqT - I
>·eT�¿£ :

1. n�� ç|�Xø�\Å£� d�eÖ<ó�qeTT\T s�jáTTeTT.

2. ç|�Ü ç|�Xø�Å£� 1 eÖsÁTØ.      4 x 1 = 4 eÖsÁTØ\T

1. D ABC ýË DE // BC,         =          eT]jáTT AE = 2.1 �d+.MT. nsTTq AC
¿£qT>=qTeTT.

2. Âs+&�T d�sÁÖ|� çÜuó�TC²\ yîÕXæý²«\ �w�ÎÜï� >·T]+º úyû$T #î|�Î>·\eÚ?

3. ‘x + y’ s�Xø�\ n+¿£>·DìÔá d�>·³T ‘x - y’ nsTTq s�Xø�\ yîTTÔáïeTTqT ¿£qT>=qTeTT.

4. log4 (1+tan2 45°)  $\Te >·Dì+#áTeTT.

�d¿£üqT - II
>·eT�¿£ :

1. n�� ç|�Xø�\Å£� d�eÖ<ó�qeTT\T s�jáT+&�.

2. ç|�Ü ç|�Xø�Å£� 2  eÖsÁTØ\T.    5 x 2 = 10 eÖsÁTØ\T

5. 90 �d+.MT mÔáTï >·\ ÿ¿£ u²*¿£, B|�d�ï+uó�eTT qT+&� <�ÖsÁeTT>± 1.2 MT/�d yû>·eTTÔÃ

q&�T#áT#áTq�~. B|�d�ï+uó�eTT mÔáTï 3.6 MT nsTTq 4 �d¿£+&�¢ ÔásÁTy�Ôá @sÁÎ&û � u²*¿£

ú&� bõ&�eÚqT ¿£qT>=qTeTT.

eÖsÁTØ\T : 30                      bÍsÁT¼ - m
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6. ÿ¿£ \+�¿ÃD çÜuó�TÈeTTýË ¿£sÁ�eTT, <�� nÜ ºq� uó�TÈeTT Âs{ì¼+|�Ú ¿£H�� 6 MT mÅ£�Øe.

eTÖ&�e uó�TÈeTT ¿£sÁ�eTT ¿£H�� 2 MT ÔáÅ£�Øe nsTTq � çÜuó�TÈ uó�TC²\qT ¿£qT>=qTeTT.

7. Cos (60°+ 30°) = Cos 60° Cos 30° + Sin 60° Sin 30°. nq&�+ d��uñH�? MT

d�eÖ<ó�qeTTqT d�eT]Æ+#áTeTT.

8. � ç¿ì+~ |�]o\H�+XøeTT\ eT<ó�«>·ÔáeTT eT]jáTT u²V�QÞø¿£eTT ¿£qT>=qTeTT:

12, 5, 9, 6, 14, 9 eT]jáTT 8.

9 d�+¿ì�|�ï $#á\q |�<�ÆÜýË »n+¿£>·DìÔá d�>·³Tµ qT ¿£qT>=qT³Å£� d�ÖçÔáeTTqT çy�d¾, n+<�*

ç|�Ü s�¥� $XøB¿£]+#áTeTT.

�d¿£üqT - III
>·eT�¿£ :

1. n�� ç|�Xø�\Å£� d�eÖ<ó�qeTT\T s�jáTTeTT.

2. ÿ¿=Ø¿£Ø ç|�Xø� qT+º ÿ¿£ <��� eÖçÔáyûT mqT�¿=qTeTT.

3. ç|�Ü ç|�Xø�Å£� 4  eÖsÁTØ\T.    4 x 4 = 16 eÖsÁTØ\T

10. (a)   D ABC ýË ÐC=90°, If BC + CA = 17 �d+.MT, BC - CA = 7 �d+.MT, nsTTq

   (i) Sin A (ii)  Sin B \qT ¿£qT>=qTeTT.

(ýñ¿£)
      (b)    D ABC ýË AB uó�TC²�� P e<�Ý, AC uó�TC²�� Q e<�Ý Ô�Å£�q³T¢ PQ d�sÁÞø¹s¿£ ̂ jáT�&îqT.

   AP = 1 �d+.MT, BP = 3 �d+.MT, AQ = 1.5 �d+.MT, CQ = 4.5 �d+.MT nsTTq

  D APQ yîÕXæ\«eTT : D ABC yîÕXæ\«eTT ¿£qT>=qTeTT.

11. (a)  ç¿ì+~ |�{ì¼¿£ýË �eÇ�&�q 60 s�Xø�\ eT<ó�«>·ÔáeTT 28.5 nsTTq x, y $\Te\T ¿£qT>=qTeTT

ÔásÁ>·Ü n+ÔásÁ+ 0 - 10 10 - 20 20 - 30 30 - 40 40 - 50 50 - 60

båq' |�Úq«eTT 5 x 20 15 y 5



(ýñ¿£)

      (b)   Cos21°+Cos22°+Cos23°+............+Cos290° $\TeqT ¿£qT>=qTeTT.

12. (a)   Cosec q + Cot q  = k nsTTq

     Cos q =        n� �sÁÖ|¾+#áTeTT.

(ýñ¿£)

      (b)   BsÁé #áÔáTsÁçd�eTT ABCD n+ÔásÁeTTý¤ »Oµ @<îÕH� ÿ¿£ _+<�TeÚ nsTTq

   OB2 + OD2 = OA2 + OC2  n� �sÁÖ|¾+#áTeTT.

13. (a)   uó�Ö$T 8 �d+.MT eT]jáTT <��� ̂ d¾q \+�eTT 4 �d+.MT �+&�Tq³T¢ ÿ¿£ d�eT~Çu²V�Q

 çÜuó�TÈeTTqT ̂ jáT+&�. � çÜuó�TÈ uó�TC²\Å£� 1      Âs³T¢ nqTsÁÖ|� uó�TC²\ bõ&�eÚ\T

 ¿£*Ð, �ºÌq çÜuó�TC²�¿ì d�sÁÖ|�+>± �+&û³³T¢ yûs=¿£ çÜuó�TÈeTTqT �]�+#áTeTT.

(ýñ¿£)

      (b)  50 eT+~ çXæ$TÅ£�\ ~qd�] uó�Ôá«eTT\T ç¿ì+~ båq' |�Úq« $uó²ÈqeTTýË �eÇ�&�¦sTT.

 � <�Ô�ï+XøeTTqÅ£� �sÃV�²D d�+ºÔá eç¿£eTTqT ^jáTTeTT.

k2-1
k2+1

1
2

��

~qd�] uó�Ôá«eTT

(sÁÖ. \ýË)
350 - 400 400 - 450 450 - 500 500 - 550 550 - 600

çXæ$TÅ£�\ d�+K« 10 16 12 8 4



d�+ç>·V�²D²Ôá�¿£ eTÖý²«+¿£qeTT ` I -2016-2017
>·DìÔáeTT ` �||�sY ` II

(Ôî\T>·T MT&�jáT+)

bÍsÁT¼ - _
ÔásÁ>·Ü : 10 >·]w�÷ eÖsÁTØ\T : 10

$<�«]Æ �|sÁT :........................................................................ sÃýÙ Hî+ : .................

eÖsÁTØ\T : 10                      bÍsÁT¼ - _

d�Ö#áq\T :
1. bÍsÁT¼ ` _ ýË� n�� ç|�Xø�\Å£� Èy��T\T çy�jáTeýÉqT.
2. ç|�Ü ç|�Xø�Å£� 4 Èy��T\T ¿£\eÚ. d�]jî®Tq d�eÖ<ó�qeTTqT d�Öº+#û �|<�Ý

n¿£�sÁeTTqT ç|�Xø�Å£� m<�TsÁT>± �q� çu²Â¿³¢ýË �+#áTeTT.

3. Èy��TqT ~~ÝÔû eÖsÁTØ\T |�]>·Dì+#á�&�eÚ.

4. n�� ç|�Xø�\Å£� d�eÖq eÖsÁTØ\T ¿£\eÚ.

�d¿£üqT - IV
d�Ö#áq\T :

1. n�� ç|�Xø�\Å£� d�eÖ<ó�qeTT\T s�jáTTeTT.

2. ç|�Ü ç|�Xø�Å£� ½  eÖsÁTØ.             20 x ½ = 10 eÖsÁTØ\T

14. D ABC  ~ D DEF. ÐC = 50°, ÐD = 65° nsTTq ÐE =             [        ]
A)  90° B) 50° C)  65° D) 55°

15. ABCD d�eT#áÔáTsÁTÒÛÈeTTý¤ AB = 5 �d+.MT nsTTq AC2 + BD2 =              [        ]
A) 25 B) 100 C)  50 D)  75

Q.No 1 5 8 10 11
14 
-
19

7 12
20 
- 
23

2 9
24 
- 
25

3 4 6
26 
- 
29

13
30 
- 
33

Marks
Total

Grade

AS-1 AS-2 AS-3 AS-4 AS-5

Total

SET-II



16. Sin q = Cos (q - 6°) nsTTq q =                        [        ]
A) 30° B)  24° C)  36° D)  12°

17. Sec q =              nsTTq  x =             [         ]

A)  B) 0 C) -1 D) 1

18.       , x ,     ,      ,      (x > 0) s�Xø�\ u²V�QÞø¿£qT 5 nsTTq x = [        ]

A)  20  B)  10 C) 15 D)  8
19. 20, 24, 25, 26, 27, 28, 29, 30 <�Ô�ï+XøeTT\ qT+&� ÿ¿£ n+XøeTT 20 qT Ô=\Ð+ºq,

� n+XøeTT\ eT<ó�«>·ÔáeTT q+<�T �|sÁT>·T<�\.            [        ]
A) 1 B) 1.5 C) 0.5 D) 2

20. ÿ¿£ çÜuó�TÈeTT jîTT¿£Ø uó�TC²\T 8 �d+.MT, 15 �d+.MT eT]jáTT 17 �d+.MT. nsTTq �

çÜuó�TÈeTT q+<�* nÜ �|<�Ý ¿ÃDeTT. [          ]
A) \+�¿ÃDeTT B) n\Î¿ÃDeTTacute angle
C) n~ó¿£ ¿ÃDeTT D) d�sÁÞø ¿ÃDeTT

21. � ç¿ì+~ y��ýË Sin q $\Te ¿±�~?            [        ]
A) 1 B) C) D)

22. � ç¿ì+~ y��ýË @~ nd�Ôá«eTT?            [        ]
A) Cos 0° = 0 B) Sin 90° = 0
C) tan 45° = Cot 45° D) A eT]jáTT B Âs+&�Ö

23. � ç¿ì+~ y��ýË n+Ôá« $\Te\#î nÔá«~ó¿£+>± ç|�uó�$ÔáeTjûT« ¹¿+çBjáTkÍÆq

¿=\Ôá @~            [        ]
A) d�>·³T B) eT<ó�«>·ÔáeTT C) u²V�QÞø¿£eTT D) y�«|¾ï

24. ÈÔá |�sÁ#áTeTT:            [        ]
1. yîTT<�{ì 10 d�V�²È d�+K«\ d�>·³T [ ] (p) 4.5
2. yîTT<�{ì 10 |�Ps��+¿±\ eT<ó�«>·ÔáeTT [ ] (q) 5.5
3. yîTT<�{ì 10 d�V�²È d�+K«\ u²V�QÞø¿£eTT [ ] (p) kÍ<ó�«|�&�<�T

A) 1 ® r, 2 ® p, 3 ® q B) 1 ® q, 2 ® p, 3 ® r
C) 1 ® p, 2 ® r, 3 ® q D) 1 ® q, 2 ® r, 3 ® p
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25. ç¿£eÖqT>·Ôá <�Ô�ï+XøeTTýË� eT<ó�«eT s�¥ $\Te           [         ]
A) d�>·³T B) u²V�QÞø¿£qT  C)  eT<ó�«>·ÔáeTT    D) B eT]jáTT C Âs+&�T

26. Âs+&�T d�sÁÖ|� çÜuó�TC²\ nqTsÁÖ|�uó�TC²\ �w�ÎÜï 2 : 3 nsTTq y�{ì nqTsÁÖ|� �q�ÔáT\

�w�ÎÜï           [         ]
A) 3 : 2B) 9 : 4 C) 4 : 9 D) 2 : 3

27. (Sec A + tanA) (1 - Sin A) =           [         ]
A)  Sec A B) Sin A C) Cosec A D) Cos A

28. If Sec q + tan q = x then Cosec q =           [          ]

A)  B) C)  D)

29. 4, x, 6, 9,  y, 13 s�Xø�\ d�>·³T 8 nsTTq x, y \ eT<ó�« d�+�+<ó�eTT [         ]
A)  x+y = 16      B) x-y = 16       C) xy = 16 D) 2x-3y = 16

30. ç|�¿£Ø |�³eTT qT+&� ‘ x+y ’
d�Öº+#áT $\Te [        ]

A)  13.5  B)  12.5 C) 14.5 D)  10.5
30. ç|�¿£Ø |�³eTT qT+&�,

       d�Öº+#áTq~ [        ]

A)  Cos q  B)  Cosec q C) Cot q D)  Sin q

  x
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32. ç|�¿£Ø |�³eTT qT+&�

‘Sin2A + Sin2B’ $\Te [        ]

A)  B) C) D)   1

33. ç|�¿£Ø |�³eTT qT+&�

z�y� eç¿£eTT\ Â¹sU² ºçÔáeTTýË

15 nHû $\Te d�Öº+#áTq~. [        ]

A)  d�>·³T  B)  u²V�QÞø¿£eTT C) eT<ó�«>·ÔáeTT D)  y�«|¾ï
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